Review questions of past topics:

1)  Write the equation of the line perpendicular to the line whose equation is 2x – 4y = 8 and passes through the point (-3,6).



2)  Find the number of degrees in each interior angle of a polygon with 14 sides.




3)  Find the length of the diameter of a circle with endpoints R(-4,5) and S(-2, -3).  Simplify your answer if possible.
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Remember, know how to construct the following:

Angle bisector
Median
Altitude
Hexagon inscribed in a circle
Square inscribed in a circle

Bring a pen/pencil, compass, straightedge, big eraser, calculator, highlighters
